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Sawing by circular saws concerns to one of the most widespread and high-efficiency processes of 

machining laminated chipboard plates. The important problem at a processing such materials is achiev-

ing of high quality receivable commodity and also the least power consumption of process. 

In paper results of experimental researches of basic technology factors influence on quality of 

processing, wear resistance of the cutting tool and power capacity are considered at mashining lami-

nated chipboard plates by hard-face alloy circular saws with an alternately-slanting teeth profile. For 

the first time mathematical models in the form of the the second order equation are received, allowing 

to establish value of technological parameters at sawing  laminated chipboards and to predict resistance 

woodworking tools and cutting power consumption. The analysis of the received mathematical depend-

ences is made. 
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